Maths wb 8th June 
Maths will continue looking at place value in numbers up to 50 and work this week will focus on comparing numbers. 
Task 1 – see separate resource 
Task 2 – see resources below 
Task 3 – see resources below 
Task 4 – see separate resource 
Extension tasks – see resources below 
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Problem solving 
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Task 3 
[image: ]
[image: ]







Extension 
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Answers to Tasks 2, 3 and extension 
Task 2 Answers 
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Problem Solving Answers 
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Task 3 Answers 
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Extension part 1 Answers 
[image: ]
image7.png
9a. Asha is marking her friend’s work. 9b. Enzo is marking his friend’s work. Spot
Spot and correct any mistakes. and correct any mistakes.

A 28 > 21 < 34 A 31 < 25 > 21

B. 48 < 42 < 50 B. 29 < 36 < 43

C. 21 > 18 < 34 C. 50 > 19 > 40
ﬁ D. 33 < 45 < 29 ﬁ D. 26 < 36 > 46
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Compare Numbers within 50

is more than

32 is less than 49

is more than

14 40

is less than

49 is than 32
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nsers within 50

22 30
50 29 38

Write all numbers which fit the clues:

is less than 30

> 28

has more than 3 tens

has 1 ten and 7 ones

is more than 25, less than 35

<30

J

Write your own clues to fit some of the numbers:

41, 30, 38

22,29, 27
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Use all the numbers to make each number v
sentence correct.

21, 27, 29, 30, 32, 35, 39, 40, 47, 50

Only use each number once!

is less than

is more than

is less than

Toni is comparing 2 numbers:

34 is equal to 4
tens and 3 ones.

Why is Toni wrong?
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2a. 26 2b. 37
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4a. 33 is more than 18. 4b. 20 is less than 43.
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9a.28 9b. 40
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60.B.50>44;C.18<27;D.47 <48 6b.A.33<41;C.31<32;D.24>19
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9a. B. 48 > 42 < 50; D. 33 < 45 > 29 9b. A.31>25>21;C. 50> 19 <40; D. 26 <
36<46
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49 is more than 32

14 < 40

32 is less than 40

49 is more than 32

49> 14

29 < 40

Other answers are possible for rows |, 3, S and 6.
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is less than 30 22,17, 29, 27

> 28 30, 41, 50, 29, 32
has more than 3 tens 41, $0
has 1 ten and 7 ones 7

is more than 25, less than 3530, 29, 27

<30 12, 22, 27, 29

is more than 29 and less than s0 |41, 30, 38

has two tens 22,29, 27

Other answers are possible.
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2] is less than 47
40 > 29
39 is more than 50
30 < 35
27 is less than 32

Other answers are possible.

Speech bubbles could say:

34 is equal to 4
tens and 3 ones.
43 is equal to 4
tens and 3 ones.
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2a. Which of the circled numbers is less 2b. Which of the circled numbers is more
than 29? than 33?

25@27 28(29(30(31 32@34 29.31 32|33(34|35 36@38
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4a. Use the circled numbers to complete | 4b. Use the circled numbers to complete
the statement. the statement.
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7a. Colour the numbers which are more 7b. Colour the numbers which are less
than 28. than 3s.

48 22 34 43 35 37

24 | 30 36 31 28 | 30

29 50 49 39 24 41
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9a. Which digit card could complete the
statement below?

4 tens
3 ones

20 + 9 is more than

e

9b. Which digit card could complete the
statement below?

2tens
7 ones

3 tens and 9 ones is less than

e
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11a. Colour the numbers which are more | 11b. Colour the numbers which are less

than thirty-nine. than thirty-four.
a7 | 23 |3lers 2 | 15 | 36
2lens| 29 | 38 35 |20+4|)ten
& 30 | 49 |a0+4 & 3tens| 11 | 48
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éa. Sienna is marking her friend’s work.

Spot and correct any mistakes.

A 26 > 21
B. 50 < 44
c. 18 > 27

D. 47 > 48

VY

|

6b. Edward is marking his friend’s work.
Spot and correct any mistakes.

A 33 > 44

B. 20 < 36

C. 31 > 32

D. 24 < 19





